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ABEEMMBNN—VIHITHMEHREREHER

Fr7E b - 8 2 381699

SHMSEHE
AEE - KR AT A AEE(RATAY—AVEEER) | e =
5cm 50¢m 100cm

DF—ILAOHILS — 0.07 — PA-1000

1/13(R) BN @B — 0.09 — PA-1000

QIR IZFT — 0.08 — PA-1000

DF—ILAORILS — 0.07 — PA-1000

7/29(K)En QS E — 0.07 — PA-1000

IBERIGAR — 0.09 — PA-1000
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(315)



ABEEMMBNN—VIHITHMEHREREHER

Fr7E b - 8 2 381699

SM2EHE
AEE - KR B AEE(RATAY—AVEEER) | e =
5cm 50¢m 100cm
DF—ILAOHILS — 0.08 — PA-1000
10/6 (K) BEHL @B — 0.10 — PA-1000
QIR IZFT — 0.09 — PA-1000
DF—ILAOHILE — 0.08 — PA-1000
4/17(&) BN Q%8 — 0.09 — PA-1000
IBERIGAR — 0.09 — PA-1000
ER3EE
I Bl AR (RATAY—ANEER) | gy %
5cm 50¢m 100cm
DF—ILAOHILS — 0.06 — PA-1000
10/4(£) BN Q% & — 0.08 — PA-1000
BRI — 0.08 — PA-1000
DF—ILAOHILS — 0.07 — PA-1000
4/18(R)EEN Qi %HE — 0.09 — PA-1000
BRI AT — 0.09 — PA-1000
3/8

(315)



SBHEIESNBLIN—TIZETHMSHRE

Fr7E b - 8 2 381699

=

AERER

T RR304EBE
AEE - KR B AEE(RATAY—AVEEER) | e =
5cm 50¢m 100cm
DF—ILAOHILS — 0.07 — PA-1000
10/4(K)E£Y @B — 0.08 — PA-1000
QIEERIZFT — 0.10 — PA-1000
DF—ILAOHILS — 0.08 — PA-1000
4/13(&)Bh QS E — 0.12 — PA-1000
IBERIGAR — 0.10 — PA-1000
FRR294EFE
AEE X A AEREAIR BT ] pieg %
5cm 50¢m 100cm
DF—ILAOHILS — 0.07 — PA-1000
10/5(XK)BEN Q% E — 0.10 — PA-1000
BRI AT — 0.11 — PA-1000
DF—ILAOHILS — 0.08 — PA-1000
4/18(R)BEN Q% & — 0.10 — PA-1000
BRI — 0.10 — PA-1000
4/8 (315)



SBHEIESNBLIN—TIZETHMSHRE

Fr7E b - 8 2 381699

=

AERER

R 284E B
AEE - KR B AEE(RATAY—AVEEER) | e =
5cm 50¢m 100cm
DF—ILAOHILS — 0.09 — PA-1000
10/6 (K)EEHL @B — 0.12 — PA-1000
QIEERIZFT — 0.10 — PA-1000
DF—ILAOHILS — 0.09 — PA-1000
4/20 K) BN QS E — 0.11 — PA-1000
IBERIGAR — 0.11 — PA-1000
TRR2TERE
AEE X A AEREAIR BT ] pieg %
5cm 50¢m 100cm
DF—ILAOHILS — 0.10 — PA-1000
10/6 CR)EEN Q% E — 0.12 — PA-1000
BRI AT — 0.14 — PA-1000
DF—ILAOHILS — 0.11 — PA-1000
4/24 (&) HEN Q% & — 0.15 — PA-1000
BRI — 0.10 — PA-1000
5/8 (315)



ABEEMMBNNN—VIZHITHMEHREREHFER

Fr7E b - 8 2 381699

T RR264E
AEE - KR AT A AEE(RATAY—AVEEER) | e =
5cm 50¢m 100cm

DF—ILAOHILS — 0.11 — PA-1000

1/8(K)EN Qs — 0.16 — PA-1000

QIEERIZFT — 0.11 — PA-1000

DF—ILAOHILS — 0.11 — PA-1000

10/7 () BEh Q%8 — 0.15 — PA-1000

IBERIGAR — 0.18 — PA-1000

DF—ILAORILE — 0.11 — PA-1000

7/3(R)ENL Q%8 — 0.17 — PA-1000

IBERIGAR — 0.11 — PA-1000

DF—ILAORILS — 0.15 — PA-1000

4.90K) HEHh Q% E — 0.18 — PA-1000

IEERIZAN — 0.10 — PA-1000
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AERER

TRR254E
I B - X 0E 1% 5 AR SH/B S U SR s s
5c¢m 50cm 100¢cm
OF—ILAOHILES — 0. 11 — PA-1000
3/6(K) Bh @EHE — 0.12 — PA-1000
QIR IHFT — 0.10 — PA-1000
OF—ILAOHILS — 0. 14 — PA-1000
2/7(%&) Bh Qi E — 0.17 — PA-1000
BRI — 0. 18 — PA-1000
— ] =] - _ _
S e e I BT N I
1./80k) Y ZFE :
QIR IHFT — 0.19 — PA-1000
DF—ILAOHILES — 0. 11 — PA-1000
12/5(K) Bh Qb E — 0.18 — PA-1000
QIR IHFT — 0.15 — PA-1000
OF—ILAOHIEES — 0.12 — PA-1000
11./8(%) Bh Qb E — 0.17 — PA-1000
QIR IHFT — 0. 10 — PA-1000
DOF—ILAOHILES — 0. 11 — PA-1000
10./8(k) BN Qb E — 0.16 — PA-1000
QIR IHFT — 0. 09 — PA-1000
DOF—ILAOHILES — 0.15 — PA-1000
9/6(&) £Y Qs E — 0. 16 — PA-1000
QIR ERIHZAT — 0.19 — PA-1000
OF—ILAOHIEE — 0.16 — PA-1000
8/6(K) £Y Qs 8E — 0.18 — PA-1000
QIEERIHAT — 0. 10 — PA-1000
OF—ILAOHIES — 0.15 — PA-1000
7/30K) £Y Qs 8E — 0. 14 — PA-1000
QIR ERIHAT — 0.10 — PA-1000
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ABEEMMBNNN—VIHITHMEHREREFR

Fr7EMh : 42 3E 1699

Rt 254 B
I B - X 0E 1% 5 AR SH/B S U SR s s
5c¢m 50cm 100¢cm

OF—ILAOHILES — 0.15 — PA-1000

6./5(K) Bh Qi E — 0.18 — PA-1000

QIR IHFT — 0.12 — PA-1000

OF—ILAOHILS — 0.16 — PA-1000

5/17(&) Bh Qi E — 0.19 — PA-1000

QIR IHFT — 0. 11 — PA-1000

DF—ILAOHILES — 0.16 — PA-1000

4170K) €Y QS E — 0.17 — PA-1000

QIR IHFT — 0. 21 — PA-1000
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